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for the questions.

1. Choose the correct option from the following :
: =)
(a) An organisational segment or area of activity
considered to accumulate cost is termed as —
(i) cost unit '
(i1) cost centre
(iii) management unit

(iv) management centre.

(b) Which method of valuing materials is
suitable in times of rising prices ?

(i) LIFO (i) FIFO
(ii1) HIFO (iv) FILO.
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(c) Which of the following methods of wagezr : }stions : 2x5=10
p .

(d)

(e)
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payment do not guarantee a minimum wag

to the workers ? time ?

18

‘ be earned by a worker,
(i1)) Bedeaux Point Plan ate system of wage
) @4l rate per hour is

er unit is 12 min and

(1) Halsey Premium Plan

(iii) Taylor's Differential Plan

@iv) Rowan Premium Plan.

' LN

Examine the correctness of the statements ¢ :
cost drivers.

given below : _ : ‘ , '3

”. L] "
, 'fq record materials

I.  Factory overheads can not be assomate !
‘integral accounting

with a specific product or job.

.
A

II. Factory overhead should not be included

in the total cost of a product or job. | " features of process

(n\ #’Hﬁ’l g

Mfﬁllowmg questions :

IxS=)5

: ,Héramlsﬂcs of a good cost
S "yStﬁfah

5 i%vconc:.apt of Perpetual Inventory
1 A8 a technique of effectlve material

(}l‘ b

ité the earnings of a worker under :
oy plan and

plan

(1) Statement I is correct.

(ii) Statement II is correct.
(iii) Both the statements I and II are correct,

(iv) Both the statements I and II are incorrect,

Normal wastage in process costing i
classified as :

(i) Deferred charge
(ii) Period cost
(iii) Product cost

(iv) An extraordinary item.

fie output of the worker




(d)

(e)
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disclosed a net

If the hourly rate of wages guaranteed is 0.9 mbt A

paise per hour, standard time for producin

: . 2016. The
one dozen articles is 3 hours and the actug anvealed as a
time taken by the worker to produce 20 doze of both the
articles is 48 hours. |
Distinguish between under-absorption an =
Rs. 16,000

over-absorption of overheads.

The following information relating to : | AMRS_ 24,000

manutacturmg unit is provided :

Input of raw materials in process-I IOO

Rs. 2,20,000
units @ Rs. 6 per unit :

Rs. 2,45,000
Rs. 1,50,000

Direct materials Rs. 5,200
Direct wages Rs. 4,000

Production overheads Rs. 4,000

Rs. 2,67,000
Actual output 950 units o

: T Interest on investments not
(to be transferred to Process H)_ i R oot sccounts Rs. 64,000

Normal loss '5% : ;
i) Transfer fees (credit

“in financial books) Rs. 16,000
; "t
) Stores adjustment (credit

in financial books) Rs. 8,000
pare Memorandum Reconeiliation Account.

Value of scrap per unit Rs. 4

Prepare Process — I Account and Normal loss
Account as they may appear in the books of
accounts. |
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4. Explain the éoncept of cost centre. How does ¢
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Or

State the needs for reconciliation of cost
financial accounts.

i |

wd @ 60% of direct
it

ffe absorbed @ Rs. 12

accounting contribute to the effective |

efficient resources allocation in a manufactur

entity ? 3+7=
- Or

The following are the costing records for the yi

2016 :

overheads. are absorbed

e .

‘ “ ar 7,600 units at a profit of

b8t sheet for the year ended 31st

Opening  Closing
Rs. Rs. | ad

Raw materials 29,500 36,000 4
SR | inguish between. ordering cost and
Materials 13,600 12,000 A QP il nglengle ’
e 11.000 16.500 il company buys in lots of 500 boxes of

i ’ ' ~ article which is a 3 months supply. The
oS et 2600 i It per box is Rs. 125 and the ordering cost
Finished goods Rs. 150. The inventory carrying cost is
200 units @ . 84 (p.w) —_— a wted at 20% of unit value. What is the
Finished goods o . ' annual cost of the existing inventory
1600 imits. @ i 84 (p.u) wlicy ? How much should be saved by

ploying EOQ method of material control ?

Purchase of raw materials Rs. 1,90,000 7
Carriage on purchase Rs. 1,500 L Or
Sale of scrap of raw materials Rs. 5,000 Yhat is meant by material control ? 3
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(b) Explain the basic requirement that you |

(a)

associated with the

to consider while lying down an effici | )
system of material control in your organisat \

tker Ram and
A machine was purchased in January, 2 e system and
for Rs.5 lakhs. The total cost of - gystem from
machineries inclusive of the new mach Btate the
was Rs. 75 lakhs. The following furt s differen-
information are available : pxece fato
Expected life of the machine : 10 years; -
Scrap value at the end of 10 years : Rs. 5,(
Repairs and maintenance for the mach
during the year Rs. 2000. Expected num
of working hours of the machine per y . -"rd
4,000 hrs. Insurance premium paid annud B
for all the machines Rs. 4,500. or above standard.
Electricity consumption for the machine I8 per day and Shyam

hour (@ 75 paise per unit) 25 units. A - ilts per day.
occupied by the machine 100 sq.ft, area ih
departments 1,600 sq.ft. Rent per month
the department Rs. 800. Lighting charges
20 points for the whole department (tk
points for the machine) Rs. 120 per mo
Compute the machine hour rate for the

machine.

fl control over overtime work.
» . 3
¢ess A, 100 units of raw materials were
"-' at a cost of Rs. 1,000. The other

liture incurred by the process was Rs. 700.
¢ units introduced, 10% are normally lost
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